MATH

Name: MONKS

@ividing Binomials by Monomiols)

Divide.
1 (8m°n®- 12m°n? + 4m°n @ (-uvw + u*v®) + u?v
(3 (27a°b7 - 18a*b%) + (-3a'b?) @) (16h° - 14hk®) + 2h
(5 (b%c + 17b3c?®) + b2c (19xy4z - 7x3yz2) + xyz
@ (-6p%q* - 3p?qr?) + 3pZq (9t7 - 15st°) + 3t2

(9@ (20m’n® - 10m?) + (-5m?) (13c3d? + c*d?®) + cd
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Answers

M (8m°n®- 12m°n? + 4m°n @ (-uvw + u*v®) + uv
2mnZs 3n -uw + u?v®

(3 (27a°b7 - 18a*b%) + (-3a'b?) @) (16h°- 14hk®) + 2h
-9ab® + 6b? 8h® - 7h’

(5 (b%c + 17b3c?®) + b2c (19xy4z - 7x3yz2) + xyz
b + 17bc’ 1972 = JxsZ

@ (-6p3q* - 3p2qr?) + 3p3q (9t7 - 15st°) + 3t2
-2q3 - r? 3t? --58t"

(9 (20m’n® - 10m?) + (-5m?) (13c3d? + c*d?®) + cid

-4mSns + 2 13cd + c2d?



